
MATHS

BOOKS - SAI MATHS (TELUGU ENGLISH)

DEFINITE INTEGRALS

Problems

1. The area of the region bounded by the curves

 (in square units) is

A. 64

B. 

y = 9x2 and y = 5x2 + 4

64
3

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_2inkyPRqIzql


C. 

D. 

Answer: D

View Text Solution

32

3

16

3

2. 

A. 

B. 

C. 

D. 

Answer: C

∫
p / 2

0

16x sinx cos xdx

sin4 x + cos4 x

π2

4

π2

2

π2

2π2

https://dl.doubtnut.com/l/_2inkyPRqIzql
https://dl.doubtnut.com/l/_42d1asAPOPfX


View Text Solution

3. 

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

∫
1

0
√ dx =

1 − x

1 + x

− 1
π

2

+ 1
π

2

π − 1

3π

2

4. ∫
0

dx =

π

4 sinx + cos x

3 + sin 2x

https://dl.doubtnut.com/l/_42d1asAPOPfX
https://dl.doubtnut.com/l/_SXIMFS6RsFvA
https://dl.doubtnut.com/l/_CsjubXvK3otm


A. 

B. 

C. 

D. 

Answer: D

View Text Solution

log 3
1

2

log 2

log 3

log 3
1

4

5. 

A. 

B. 

C. 0

∫
1

− 1

dx =
√1 + x + x2 − √1 − x + x2

√1 + x + x2 + √1 − x + x2

3π

2

π

2

https://dl.doubtnut.com/l/_CsjubXvK3otm
https://dl.doubtnut.com/l/_TT1VAMDsjzJI


D. 

Answer: C

View Text Solution

−1

6. The area of the region described by

 is

A. 

B. 

C. 

D. 

Answer: C

{(x, y) /x2 + y2 ≤ 1 and y2 ≤ 1 − x}

−
π

2

2

3

+
π

2

2

3

+
π

2
4
3

−
π

2
4
3

https://dl.doubtnut.com/l/_TT1VAMDsjzJI
https://dl.doubtnut.com/l/_pFkkhHnWbg7E


View Text Solution

7. By the definition of the definite integral, the value of

is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

lim
n− ∞

( + + + … + )
14

15 + n5

24

25 + n5

34

35 + n5

n4

n5 + n5

log 2

log 2
1

5

log 2
1

4

log 2
1

3

https://dl.doubtnut.com/l/_pFkkhHnWbg7E
https://dl.doubtnut.com/l/_WHycpnko4ka4
https://dl.doubtnut.com/l/_83FNrc3Laqqk


8.  equals to

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

∫
π / 6

0

cos4 3θ. sin2 6θdθ

π

96

5

192

5
π

256

5
π

192

9. The area (in sq. units) of the region bounded by

 is 
x = − 1, x = 2, y = x2 + 1 and y = 2x − 2

https://dl.doubtnut.com/l/_83FNrc3Laqqk
https://dl.doubtnut.com/l/_gb5hszwKkcbI


A. 10

B. 7

C. 8

D. 9

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_gb5hszwKkcbI
https://dl.doubtnut.com/l/_jdJBVdMPxr1b


10. , then b is equal to

A. 

B. 

C. 

D. 1

Answer: D

View Text Solution

∫
b

0

= ∫
∞

b

dx

1 + x2

dx

1 + x2

tan− 1( )
1

3

√3

2

√2

11. The area (in sq. units) bounded by the curves

 is

A. 

x = − 2y2 and x = 1 − 3y2

2

3

https://dl.doubtnut.com/l/_jdJBVdMPxr1b
https://dl.doubtnut.com/l/_ILG5xNzSXHP6


B. 1

C. 

D. 

Answer: C

View Text Solution

4
3

5

3

12. If , then  is equal to

A. 

B. 

C. 

D. 

a > 0 ∫
π

−π

dx
sin2 x

1 + ax

π

2

π

2
π

2

aπ

https://dl.doubtnut.com/l/_ILG5xNzSXHP6
https://dl.doubtnut.com/l/_NTtdyOe1iP2t


Answer: A

View Text Solution

13. The area (in sq. units) bounded by the curves

 is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

y2 = 4x and x2 = 4y

64
3

16

3

8

3

2

3

https://dl.doubtnut.com/l/_NTtdyOe1iP2t
https://dl.doubtnut.com/l/_Shsg4ofnEoqO


14. The area (in square units) of the region bounded by

the curves  is

A. 

B. 2

C. 3

D. 4

Answer: D

View Text Solution

x = y2 and x = 3 − 2y2

3

2

15. If  for  then 

 is equal to

Ia = ∫
π / 4

0

tann θdθ n = 1, 2, 3, …,

In− 1 + In+ 1

https://dl.doubtnut.com/l/_pQV4o3ovdg6D
https://dl.doubtnut.com/l/_5TRamzUeRq5z


A. 0

B. 1

C. 

D. 

Answer: C

View Text Solution

1

n

1

n + 1

16. If , then 

,…., are in

A. arithmetic progression

B. geometric progression

In = ∫
π / 2

0

tann xdx I2 + I4, I3 + I5, I4 + I6

https://dl.doubtnut.com/l/_5TRamzUeRq5z
https://dl.doubtnut.com/l/_DKb4jQX6z5ib


C. harmonic progression

D. arithmetic-geometric progression

Answer: C

View Text Solution

17. The area (in square units) of the region enclosed by the

two circles  is

A. 

B. 

C. 

D. 

x2 + y2 = 1 and (x − 1)2 + y2 = 1

+
2π

3

√3

2

+
π

3

√3

2

−
π

3

√3

2

−
2π

3

√3

2

https://dl.doubtnut.com/l/_DKb4jQX6z5ib
https://dl.doubtnut.com/l/_0GbXPeSJUZuQ


Answer: D

View Text Solution

18.  is equal to

A. 1

B. 2

C. 

D. 

Answer: B

View Text Solution

∫
π

0

dx
1

1 + sinx

−1

−2

https://dl.doubtnut.com/l/_0GbXPeSJUZuQ
https://dl.doubtnut.com/l/_4lGEqBQepktp
https://dl.doubtnut.com/l/_99uPnKlsCnYw


19. The line  divides the area of the region

bounded by  and x-axis 

 into two regions of areas . 


Then  equals

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

x =
π

4

y = sinx, y = cos x

(0 ≤ x ≤ )
π

2
A1 and A2

A1, A2

4: 1

3: 1

2: 1

1: 1

20.  is equal to∫
1

0
x3 / 2√1 − xdx

https://dl.doubtnut.com/l/_99uPnKlsCnYw
https://dl.doubtnut.com/l/_eVDtLlraEvuV


A. 

B. 

C. 

D. 

Answer: D

View Text Solution

π

6

π

9

π

12

π

16

21.  is equal to

A. 0

B. 1

C. 2

∫
π / 2

−π / 2
sin|x|dx

https://dl.doubtnut.com/l/_eVDtLlraEvuV
https://dl.doubtnut.com/l/_PL2PERiYRpfc


D. 

Answer: C

View Text Solution

π

22. The area (in sq unit) of the region bounded by the

curves  is

A. 

B. 

C. 1

D. 2

Answer: B

2x = y2 − 1 and x = 0

1

3

2

3

https://dl.doubtnut.com/l/_PL2PERiYRpfc
https://dl.doubtnut.com/l/_WE7eZmzfemEo


View Text Solution

23. If , then  is equal to

A. 1

B. 

C. 0

D. 

Answer: A

View Text Solution

f(t) = ∫
t

− t

dx
e− |x |

2
lim
t→ ∞

f(t)

1
2

−1

24.  is equal to∫
2x

0
sin6 x cos5 xdx

https://dl.doubtnut.com/l/_WE7eZmzfemEo
https://dl.doubtnut.com/l/_ycfe53yDtIli
https://dl.doubtnut.com/l/_pcPHz2CxDb8I


A. 

B. 

C. 0

D. 

Answer: C

View Text Solution

2π

π/2

−π

25. The area (in sq. unit) of the region enclosed by the

curves  is

A. 

B. 

y = x2 and y = x3

1

12

1

6

https://dl.doubtnut.com/l/_pcPHz2CxDb8I
https://dl.doubtnut.com/l/_u0160PFMKSFk


C. 

D. 1

Answer: A

View Text Solution

1

3

26.  is equal to

A. 

B. 

C. 

D. 

Answer: C

∫
π / 2

0

dx

1 + tan3 x

π

π

2

π

4

3
π

2

https://dl.doubtnut.com/l/_u0160PFMKSFk
https://dl.doubtnut.com/l/_4K04WbqxzKT7


View Text Solution

27.  dx is equal to

A. 0

B. 1

C. 

D. 

Answer: C

View Text Solution

∫
1

− 1

coshx

1 + e2x

e2 − 1

2e

e2 + 2

2e

28.  dx is equal to∫
π / 2

0

200 sinx + 100 cos x

sinx + cos x

https://dl.doubtnut.com/l/_4K04WbqxzKT7
https://dl.doubtnut.com/l/_G800Bkn9dMaN
https://dl.doubtnut.com/l/_pk0k73Ch43PZ


A. 

B. 

C. 

D. 

Answer: C

View Text Solution

50π

25π

75π

150π

29.  is equal to

A. 

B. 

C. 

∫
π

0

dθ
θ sin θ

1 + cos2 θ

π2

2

π3

3

π2

https://dl.doubtnut.com/l/_pk0k73Ch43PZ
https://dl.doubtnut.com/l/_tPIJ7LAmzgxV


D. 

Answer: D

View Text Solution

π2

4

30. The area (in sq. unit) bounded by the curves

 in the plane, is

A. 

B. 

C. 

D. 

Answer: B

y2 = 4x and x2 = 4y

8

3

16

3

32

3

64
3

https://dl.doubtnut.com/l/_tPIJ7LAmzgxV
https://dl.doubtnut.com/l/_aaOgmbtv6q5t


View Text Solution

31.  is equal to

A. 0

B. 1

C. 2

D. 

Answer: A

View Text Solution

∫ log( )dθ

π

2

− π

2

2 − sin θ

2 + sin θ

−1

https://dl.doubtnut.com/l/_aaOgmbtv6q5t
https://dl.doubtnut.com/l/_SxI6xrqcsuFg


32. The area bounded by  x-axis, 

 is

A.  sq. unit

B.  sq. unit

C.  sq. unit

D.  sq. unit

Answer: C

View Text Solution

y = x2 + 2,

x = 1 and x = 2

16

3

17
3

13

3

20

3

33.  dx is equal to∫
2

0

2x − 2

2x − x

https://dl.doubtnut.com/l/_t3Nk8M7KFLh1
https://dl.doubtnut.com/l/_eyXzlSF9LNYp


A. 0

B. 2

C. 3

D. 4

Answer: A

View Text Solution

34.  is equal to

A. 1

B. 2

C. 3

∫
2

− 2
|[x]|dx

https://dl.doubtnut.com/l/_eyXzlSF9LNYp
https://dl.doubtnut.com/l/_mrurelBzsSaM


D. 4

Answer: D

View Text Solution

35.  dx is equal to

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

∫
1

0
sin(2 tan− 1 √ )

1 + x

1 − x

π

6

π

4

π

2

π

https://dl.doubtnut.com/l/_mrurelBzsSaM
https://dl.doubtnut.com/l/_ute4QQoG2vVO


36.  dx is equal to

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

∫
3

0

3x + 1

x2 + 9

log(2√2) +
π

12

log(2√2) +
π

2

log(2√2) +
π

6

log(2√2) +
π

3

37.  is equal to∫
3

2

dx

x2 − x

https://dl.doubtnut.com/l/_ute4QQoG2vVO
https://dl.doubtnut.com/l/_wJ0N75xOXTwV
https://dl.doubtnut.com/l/_cvZCXopOhMNk


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

log.
2

3

log.
4
3

log.
8

3

log.
1

4

38.  is equal to

A. 

B. 

C. 

∫
π / 2

−π / 2
sin4 x cos6 xdx

3π

128

3π

256

3π

572

https://dl.doubtnut.com/l/_cvZCXopOhMNk
https://dl.doubtnut.com/l/_hml5y8xTXxnG


D. 

Answer: B

View Text Solution

3π

64

39.  is equal to

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

∫
π / 2

0

sin8 x cos2 xdx

π

512

3
π

512

5
π

512

7
π

512

https://dl.doubtnut.com/l/_hml5y8xTXxnG
https://dl.doubtnut.com/l/_5trMGwV7Nzej


40.  for

A. Any value of a and b

B.  only

C.  only

D.  only

Answer: A

View Text Solution

∫
1

0
(ax3 + bx) = 0

a > 0, b > 0

a > 0, b < 0

a < 0, b > 0

41. The area (in sq. unit) of the region bounded by

 and x-axis isx2 = 8y, x = 4

https://dl.doubtnut.com/l/_5trMGwV7Nzej
https://dl.doubtnut.com/l/_yni0geRiJml9
https://dl.doubtnut.com/l/_dNw096OzMJ6m


A. 

B. 

C. 

D. 

Answer: C

View Text Solution

2

3

4
3

8

3

10

3

42. Evaluate , where 


A. 0

B. 2

∫
1

− 1
f(x)dx

f(x) = (1, 2x, x ≤ 0), (1 + 2x, x ≥ 0)

https://dl.doubtnut.com/l/_dNw096OzMJ6m
https://dl.doubtnut.com/l/_BOcfPU0iuZU3


C. 4

D. 16

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_BOcfPU0iuZU3

